PHYSICS SSC-II

Time allowed: 2:45 Hours

Total Marks Sections B and C: 53

SECTION - B (Marks 33)
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Q.2 Answer the following questions briefly. (11x3=33) S At Gl g palidia S YY) g 7 0 Zd ‘9“

(i) : Compare the time periods of a pendulum in Islamabad and Enlist the necessary conditions to produce echo. »
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(i) | Describe the factors affecting the loudness of sound Briefly explain damping. Discuss its graphical form.
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(iii) { What will be the speed of light in diamond that has a Briefly elaborate mutual induction. Make a schematic
refractive index of 2.42? diagram. Write its units.
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(iv) : Two small, equally charged metal spheres, having charge 5 Find the power delivered to an air conditioner when it
uC each are placed at a distance of 4.0 cm between them. draws a current of 12 A when connected to a power supply
Calculate the magnitude of force. of 210 V-
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(v) i Light enters from air into glass of refractive index 1.55 at A battery torch bulb uses 8 cells (each of 1.5 V) to glow. If
an angle of 35°. What is the value of angle of refraction of resistance of the bulb is 10€2, determine the current.
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(vi) | An electric heater working at a potential difference of 240 Radium-226 undergoes alpha decay. Write the reaction
V draws 30 A of current. How much electrical energy will equation, and determine the identity of daughter nucleus.
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(vii Brieﬂy explain the Right-Hand Rule for the case of current Discuss NOR gate with its circuit diagram, symbol and
assing through a solenoid. truth table.
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(viii i Briefly elaborate the methods to increase the resultant force Compare RAM and ROM memories. L5
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(ix) i A 24V battery passes a 30mA current through a resistor. State Right Hand Rule for current passing through a
Find value of resistance used in this circuit. 3 OR conductor placed inside a uniform magnetlc field. 3
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(x) | Elaborate transmission of signal through optical fiber. 3 | OR Differentiate analogue and digital electronics. 3
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(xi) Determine the electrostatic force between Nitrogen nucleus
Wh?t.v:ﬁllt be the at?tmli Taids and a;o;r;;c rlumb%l 02f3£t‘hs (having 7 protons) and the valence electron which is at a
anha?is i?s nC;)Igl:{)s atter beta decay o orium (Th-234)’ 241 | OR distance of 4.8nm from the nucleus. 3
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SECTION — C (Marks 20)
Note: Answer the following questions. 4 x 5=20) S S maiabl sy S al¥lgwgr e
Q.3 | Show that motion of a Simple Pendulum is SHM. Derive Explain force on a current carrying conductor in a uniform
formulae of its time period and frequency. M1 gr magnetic field. Also draw dlagrams 2
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Q.4 | Explain combination of capacitors in parallel with SONAR sends ultrasound signal to sea bed. It is received
diagram. Also give its characteristics and derive a relation back after 9.2 s. If speed of sound in water is 1500 ms-'.
for its equrvalent capacitance. 2+1 OR Find the depth of sea bed. 05
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Q.5 : Elaborate the working of compound microscope. Draw ray Discuss the use of logic gates in:
diagram. Determine its magnifying power. (oS Ol Jleniad \S GER KA (e oddi X 25
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Q.6 : Explain nuclear fission reaction in detail along with Differentiate primary and secondary memories. Why are
d1a/gram and nuclear equation. . or both needed in c0mputers‘7 2;5
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